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~ GATITU SECONDARY SCHOOL P.0. BOX 1030-327 ATUNDU
FORM 4 BIOLOGY MID TERM EXAM TERM II 2015

Time 2 hours ‘

° WﬂteyournmwaMnm in the spaces provided above.

. ThispaperconsﬁfhvaseaionsAandB

o Answer all the questions in sections A in the spaces provided.

o In section B, answer question 6 (compulsory) and either question 7or8inthespacesprovided¢ﬁer
question 8.

Section | Questions 5~Muxiumum | Candidates score
Secon (o -2
) 3
3 . - &7~
AR 8
B 16 120
;_ 7. 20 |
f K} 30 :
|TOTAL ____[%0

b)A couple, George and Grace had a son who was suffering from haemophilia even though none of thcm
- -showed signs of haemophilia. _
i)' State the genotype of George and Grace. - ' ‘ (2mks)
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¢) What arc linked genes?
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a) Account for the results in the experimental setup A. - (3mks)
b) Explain the purpose of experimental set ups Band C. “(3mks)
o) Explam the results in experimental set ups D and E. (2mks)
| 3. Three pieces of potato cylinders of equal length were placed in three solntions of different concentrations.
The set ups were left to stand for 45 minutes. The results were recorded in the table below.
Sphnim Tnitial length of cylinder (mm) | Final length of cylinder (mm)
A | (%0 ' ‘
B . 140 . - 1385
T —Tw |4 |
N \
a) Describe the nature of solution A in relation to the comemratlm of the potato cells. . . (lmk)
b) Explamtheobservatxonthatwasmdeonthe potato cylinder which was put in solution B. *(3mks)
c)1) State what would happen to red blood oells if they were placed in solxmon C. - (imk)
ii) Explam your answer in (c)(‘) above. “(2mks)
d) Name the process involved in uptake of mineral salts by plants from the soil. (1mk)
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4) a) Explain the term double fertilizatipn as applied in plants. - (3mks)
b) State the role of each of the following hormones in male humans,
i) Follicle stimulating hormone, | (mk)
ii) Testosterone (Imk)
¢) What is in vitro fertilization? (2mks)
“""‘:. -------- *esresesnesne 955{%;}_-"-!’.:30--q‘-o--.-(._‘p.‘,--- s
d) Name the causative agent o,

Goat

that follow.

Muscle
- @) What are the structural _adaptgti’ogsro’t: the parts labelled A and B to their functions? (2mks) ‘
DAL oo e e e . :
‘ ' |
) BE o e reereeetienaes
b) Name the parts of the following animals that carry out the same function as part B above (2mks)
DM et et -
11)Tllap1aﬁsh ........................ ettt e ne e s
¢) Name the structures used for gaseous exchange in plants growing in water logged soils (Imk)
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heartbeat. | - o |  (2mks)

SECTION B (40 MARKS)
Answer question 6 (compnlsmy) and ejther question 7 or 8 in the mmqumn 8.

6. Dunnggermmanonand growth ofaccreal, thcdrywelght of the endosperm, the embryo andm dry
welght were determmed at two day intervals. The results are shown in the table below.

Tlmeaﬁerphms(ﬂnn) Dry weight of endosperm (mg) | Dry weight of embryo (mg) . “Total dry welght (mg)
o 83 | 2 I K5
2 | 40 | 2 2
7 . 7 — G
6 20 o .17 T 37
8 10 ,' T T - T
10 6 T 33 , 39

a) On the same axes, draw graphs ofdrywexght ofendosperm embryoand the total drywelghtagamst time.
Use the graph paper prov1ded (Jmks)

b) What was the total dry weight on day 57 | _ (imk)
¢) Account for: ‘ . :
i) Decrease in dry welght of endosperm from day Oto day 10. ’ _ ~ (2mks)
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* ii) Increase in dry weight of embryo fromdmy 0 40 day 10. (2mks) -
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i) Decrease-in total dsymgmfm&duyotodays co e (tmk)
iv) IncreasemdrywelghtaﬁerdayS S e S o - (Imk)
) State two factors within the seed and two outside the seed that cause dormancy.

i) Factors within the seed. . IR ' |  (2mks)
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©) Give two characteristics of meristomaticcells. .~ * 7 oy
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7Dmnbehowamammxmhmwadapwdfmismm " (20mks)
8. a)Describehowxemphy&esareadaptedtohvmgm&leﬁhabmt. (10mks) -
b) Explain how an upright position is mamtamed in herbaceous plams ' o (10mks)
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